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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Explain singly and doubly excited magnetic field systems.
Aol Ul sl vsuses NoAdls (5es RRUA AU

()Draw Dyl & Dyl1 connection & vector diagrams for three phase
transformer
(i))Why transformer cannot be connected to DC supply?

(i) 20l YleRel 2RSRHRel Dyl & Dy11 %1SIQN el UEL2ell
stALUH €L
(i) WS YlaRaUl 2AAZRHA Sll 12l WA 3H ol %Sl astA ?

Draw and explain load characteristic of D.C. shunt and series generator.
SLAl 2o M Aldlor gotRerell Als clelRllscdl €11 Aol AHxLA.

List and explain various losses occurring in D.C. generator.

SIR{l ootR21l Beuot AUl el el cauA ol ALEL stotlcll Ua AHostAl

OR
A 110 volt, shunt generator has full load current of 100A, shunt field
resistance of 55Q and constant losses of 5S00W.If the Full load efficiency is
88% ,find armature resistance .Also find the load current corresponding to
maximum efficiency.

As 110V, Sl Yl 2Ace WotR2Rell $et AS 522 100 A 8,22 S5
(2 55 Q A Slee AU 500 W B . %L get Els UR SlAELL
88% &l cl AU of WY AU WA UsH SlAELAL UR AS
532 2l

Explain various speed control methods of D.C. shunt motor

SLAL 202 Me2ell el el lls s2lctoll U AHA

A dc shunt drives a centrifugal pump whose torque varies as square of the
speed. The motor is fed from a 230V supply takes 60 A when running at 1200
rpm. What resistance must be inserted in the armature circuit in order to
reduce the speed to 850 rpm ? The armature and field resistance of the motor
are 0.1 and 95 Q respectively.
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Slflae As Aglgyoret wd o Ut B Botl 25 A Alsell adl ol
AHYHIEL ® . H2R 230 dlceall £6lldl ,1200 AR ULAH ofl 1ls U
60 AOVAR 522 A B. decll R AU Usle 1l GRRA usA
Bl 1ls udl a 850 AR ULAH gl 2t 212 (3es wal RR%

(3C5oll AUAD 0.1 AWEIA ol 95 UKL B.

OR
Explain the method to determine the efficiency of D.C. shunt machine by
“Swinburne Test”

SLAL 22 Hallot ol Aglall2ill Muc H2 ecllototel 22 A AHA.

Drive the torque equation of D.C. motor.

SLll eR of A5 of wlswL Aadl

Derive the condition for maximum efficiency of Transformer
As YleRUl URA(dtoll HeaH staEatdloll ARAl of w50 Al

The following are the test result of a 230/600 V, single phase ,8.5KVA
transformer

OC test : 230V,2.1A, 295W LV side

SC test: LV is shorted 28V,12A, 160 W ,HV side

Find (1) the full load efficiency and (2) regulation at 0.8 lagging power factor

As 8.5 5.dl.A. ,230/600 dlceell As YlakRaUl UR(detl o Asll
AWdASA HAA O,

YeAl WRUaell 232:. 230V,2.1A, 295W LV ULBS

e usle uRuasl 22 : LV 20 B, 28V,12A, 160 W HV AUBS
QLA 53], (1)0.8 AsH ALDL AEALRLS $et Als sllEstAl ual

(2) 0.8 AsH AR AlRILS HI2 20YAUL.

OR
Explain O.C. and S.C. test of 1-phase transformer

Ao 3853 glortsliloll WUt usle wA e usle 22 UHLAL
Derive the E.M.F. equation of single phase Transformer

As Ylerel URA(aol dlraicts ol of Yot Andl

Draw and Explain vector diagram of 1- @ transformer for lagging power
factor load.

Aol Al JQisell AR wRladl As Yol URca(dell

AR GUR AyLl Alkal gl 1A ua YU A

(lCompare between banks of 3 single phase transformers with three
phase transformer
(ii) State the condition for parallel operation of 3 phase transformers.

(i) 20 A3 As YleRaUl 2ASNIHRA ofl wuHERll AL ylcal
L 2LRASZHRA A 53

(ii)20L YleRAUl UR aBlAll AHIARHL lsclell 2A weud
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OR
A transformer has a primary winding of 500 turns and secondary of 100turns
.When the load current on secondary is 70A at 0.8 power factor lagging, the
primary current is 20 A at 0.707 power factor lagging. Determine the no load
current of the transformer.

As ylaRUl uRdldotell sl eodld ol vl 500 A Ases3L
el ofl duvAl 100 B . AseS3lell AS 562 70 A ,0.8 AsH ALLL
A Al weHil 52 20 A, 0.707 AsH ARIL ABARIS sl .

Al uRdldetl ol AlS 502 2.
State and explain the accessories of three phase transformer.

20l ylaral URdBdleit eoll @ uHestA.
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